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.Correcting fluid, eraser, blade, books, textual material,

The Invigilator shall supply you the blank Two Part carbonless OMR
Answer Sheet separately. Enter your Roll Number, Question
Booklet Serial Number and Question Booklet Series Code and
darken the corresponding circle/oval provided on the Answer Sheet
at the appropriate space carefully by using only black/blue ball point
pen. You must write the name, date and centre of examination and
put your full signature in the appropriate space provided therein
before answering any question.

.A machine will read the coded information furnished by you in the

OMR Answer Sheet. If the information so ‘furnished by you are
incomplete or different from what you have given in the application
form, you shall be awarded Zero mark.

.Answer must be given by completely blackening one of the four

circles/ovals representing the most appropriate answer given on the

Answer Sheet corresponding to the relevant question by using only |

Black/Blue ball point pen. Answers not shown by properly darkening
in black/blue ball point pen, no marks shall be awarded.

No Rough work should be done on the OMR Answer Sheet. Space
for rough work has been provided in the Question Booklet itself.
scripts,
notes/loose paper, calculator, docupen, slide rules, log tables,
electronic watches, smart watch, cell phone, ‘pager, other

electrical/electronic devices etc. are not allowed inside the
examination hall. In case the candidate is found to be in possession
of any of the above, he/she shall be expelled from the examination
without any enquiry as to whether the same was/were used by the
candidate or not.

These instructions must be complied with fully, failing which your
Answer Sheet shall not be evaluated and Zero marks will be
awarded. :

After the examination is over, candidates must ensure to fold the
OMR Answer Sheet at the perforation and separate the Original
Copy and Candidate’s Copy of the Two Rart OMR Answer Sheet in
the presence of the Invigilator and handover the Original Copy to
the Invigilator. The Candidate’s Copy of the OMR Answer sheet
may be taken by the candidate. Failure to hand over the original
copy of the OMR Answer Sheet to the Invigilator before leaving the
examination hall/room shall make the candidate liable for penal
action.

.Failure to comply with any of the above instructions shall be

considered as adopting unfair means and action as deemed proper
shall be taken.
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PAPER-I
PART-A
GENERAL AWARENESS : 100 Marks

Instructions : Each question under this section carries TWO marks. Please read the questions
carefully and answer them by selecting the most appropriate answer out of the multiple answers
given below each as A, B, C and D.

There shall be negative marking @ 0.5 mark per question for wrong/multiple answers.

Atmospheric humidity is measured by?
(A) Barometer (B) Anemometer

(C) Lysimeter (D) Hygrometer
QIIALRQ AITGI 694 92 QA AL AQUAIN ?

(A) QEQFSQ (B) ZRAITSR

(©) AIRddAa (D) 219691 FieQ

What type of rock is coal?
(A) Igneous rock (B) Metamorphic rock
(C) Sedimentary rock (D) None of these

6RIRR 688 9RIaQ dRl B6e ?
(A) UIEGIE, ER) (B) QUIQAQ &R

(C) Ue8a &inl (D) 62616 Q62

The instrument used for recording earthquake waves is?
(A) Barograph (B) Hydrograph
(C) Pantograph (D) Seismograph

QA0 0Q@ AIT AIE 92IQ AAIIadal 9ad @'4l °?
(A) Qleaugier (B) Qlesgiglier

(C) enlequg)ier (D) daestl gliep

Which one of the following pairs of Seas/Oceans does the Suez canal connect?
(A) Indian Ocean — Pacific Ocean (B) Mediterranean Sea - Black Sea

(C) Mediterranean Sea — Red Sea (D) Atlantic Ocean — Pacific Ocean

FARTIE FRMQ 999 CRRIR 694 QRF AIBQ/AQIAINaY A°6dId K6Q ?

(A) Q9 ARG - g4la AQIdea (B) @Al €199, - 9% Qs
(C) @Al AlgQ - 6RIGE AR (D) 2ISRIER ARIAIER - JaI] Aalee
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How many numbers of States share their border with Odisha?

(A)2
(C)4

6REOIT QY BREIQ g MG 288 ?
(A)9

(SR

Which type of climate does Odisha enjoy?
(A) Tropical
(C) Equtorial

GRSNIER 699 AR FRAILL 8QQS QY ?
(A) Q1Q1%,
(C) Q8@ AgmMQ,

The river Budhabalanga has been originated from?

(A) Nilgiri hill
(C) Gorumahisani hill
QQIAREP AR QYR 6RA0IQ €QIRR 7

(A) G0dQ 096

(C) 69192816 a9

Clotting of blood vessels is called?
(A) Thrombosis
(C) Agglutinisation

QBAN QAIC QIRQIQ 2’8 QRIANY ?
(A) gerdq

(C) 2IgEnIasagn,

(B)3
(D)5

(B)?

(D) &

(B) Temperate
(D) Tundra

(B) Q1061601
(D) Q4

(B) Deomali hill
(D) Similipal hill

(B) 6Q6€1IR €96

(D) d0RaIR a9e

(B) Rheumatism
(D) Fibrosis

(B) Qgr16@a

(D) ehacaldq

“Sindhu Netra” satellite has been successfully launched recently using which PSLV?

(A) PSLV - C 51
(C) PSLV - C 53

(B) PSLV - C 52
(D) PSLV - C 54

“A969” @EagQ A VAR @191 A8 AeeSa aaliadal ?

(A) 89qua@ - dse

(C) GYIRE - d8m
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11.

12.

13.

14.
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Which type of mosquito, when infected with the virus, is the main cause for spreading Dengue
fever?

(A) Culex (B) Aedes
(C) Anopheles (D) Mansonia

6@ gRIaQ AI8l, CI6RCRER QOIE QIal R0 QY. 919! 606 @A JaIQ AQRIcA AR CRIRAIY ?
(A) HEm&, (B) V@604
(C) dleqITeng (D) PRcaifel

How many bones are there in an adult human body ?
(A) 202 (B) 204
(C) 206 ‘ (D) 208
Q66 Q0P NES SR 6RERCHIT Q19 &l ?

(A) 909 (B) 90%
(©) 90 (D) 90r
Light year is a unit of measurement of i
(A) Speed of light (B) Stellar distance
(C) Speed of rockets (D) Speed of aeroplanes

2RI 9F QIQIQ Yee AId alel QR ?
(A) 2CRIKA 696! (B) R8G9 Q00!

(C) A6RGQ 694 (D) QOIRIQINQ 694

Which of the following vitamins is considered helpful to keep eyes healthy?
(A) Vitamin C (B) Vitamin B
(C) Vitamin A (D) Vitamin D
FARGe G6IQ Y caad AGQ 98 QIR AIQISH K6Q ?
(A) @eifie “g” (B) @oda “@”

(©) Geidin“g” (D) &e1fiq “6”

Which of the following is not the ancient name of Odisha?

(A) Kalinga ; (B) Utkal

(C) Odra Desha (D) Koshal
RANGS ANQ CRAG GFEIQ JAUSR QIF Q6Q ?

(A) @76 (B) g%

(C) 62694 (D) 6R16I%
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15. The first Satellite was launched by which country?
(A) Japan (B) US.S.R.
(C) US.A. (D) Germany
delrl QUFQ 60Q 626 QI ARS8 AaIaIR8ial?
(A)QaQ (B) 6a1@96 Q8
(C) 9898 BlcAaq! (D) @ele1
16. The first nuclear reactor of India is?
(A) Dhruva (B) Harsha
(C) Apsara (D) Vipul
QIRBA gaf AIafIEas AYQTaa AIF @8 ?
(A)ye (B)ed
(C) goaQ (D) Ggm
17. Bleaching powder is made from?
(A) Sulphur dioxide and gypsum (B) Chlorine and charcoal
(C) Soda ash and lime (D) Lime and chlorine
996 QI0Q €aadiQ 9ge ?
(A) 2RaR 9IREYRS 6 Gaad (B) 6918 6 9106RIR
(C) 621! 2g Y9° RAIRA (D) AR 6 6910
18. Among the various allotropes of carbon which of the following is correct?

(A) Diamond is the hardest, charcoal is the softest
(B) Diamond is the hardest, lamp black is the softest
(C) Charcoal is the hardest, graphite is the softest

(D) Diamond is the hardest, graphite is the softest.
AR 968 Q@ qwgg@d@t 0% 266" ?

(A) Q1 209071, R0 CRAR FQAGA

(B) @191 90641, AHIEan! QFeH

(C) Q10 6RIRR @6@@%@@@@\ alnteletel

(D) 911 R0Q97., GINRE AQASH
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19.

20.

21.

22.

28

The Sun Temple at Konark is known as ?
(A) Peace Pagoda - (B) Black Pagoda

(C) White Pagoda (D) Golden Pagoda
caleIga gaf Adag «'e @IQiang 2
(A) 618 QIeaNQl (B) 9% €lcallol

(C) 6419 ClcqIa (D) & clcalol

Which of the following disease(s) is/are related to Corona virus?

(A) MERS (B) SARS

(C) Both A and B (D) Neither A and B
PONGTE a9l QIS Corona Q816 AFINIEL ?

(A) MERS (B) SARS

(C)@eL AG B (D) A @9 B q¢@

Which virus is responsible for Covid-19?
(A) SARS —Cov -2 (B) SARS - Cov - |
(C) NL63 (D) MERS - Cov
Covid-19 6Q16! €I 606 QBI€ QI ?
(A) SARS-Cov-2 (B) SARS-COV-1
(C) NL-63 (D) MERS-Cov

Who among the following persons is known as ‘Kabi Chandra’ ?
(A) Upendrabhanja (B) Kali Charan Pattanik
(C) Nanda Kishor Bala (D) Radhanath Ray

PARTE B A FQIQ “@d92” QQIAIN ?
(A) Q00 QB (B) AIR10Q¢ CI8RINR

(C) a9 Gealq of (D) QuiIfIel QUL

Who was honoured with ‘Bharat Ratna’ in the year 20197
(A) Bhimsen Joshi (B) Madan Mohan Malviya
(C) Pranab Mukherjee (D) Atal Bihari Vajpayee
Qf 90 Q¢ 6Q @Y “@AGRG QI AWEE QIRBER ?
(A) Q1Fedq 6dign (B) AQ@6A1Q0 AlmQI,

(C) gée aslel (D) 26% QI ALY
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24. The ‘Lalit Kala Akademi’ is dedicated for promotion of which of the following?
(A) Dance and Drama (B) Fine Arts
(C) Literature (D) Music

‘AR0 9 RIEea’ AARGE FEM AN Q101N 9UIR Ale ads ?
(A)QIag G Qs (B) i@ aidq

(C) NS0 (D) @R

25. ‘Madhubani’ style of folk painting is the popular painting of which Indian state?
(A) Madhya Pradesh _ (B) Uttar Pradesh
(C) Bihar (D) Rajasthan
“ORIOR1” 6RIQ DRI QPR 6AR AMQ cAIRTL FoeR! 26 ?
(A) FrligeQsl (B) @aQ gead

(C) aQIQ (D) QUegle

26. Next to Hindi, which language is spoken by the maximum number of people in India?
(A) Tamil (B) Bengali
(C) Telugu (D) Urdu
Q0 96Q 696l QAITIQ QIRGR AR CRIR HIQIQ SR 7

(A) 01fR, (B) Q6!

(C)6oR4 (D)ag

27. Who is the poet of famous song “Bande Utkal Janani™?
(A) Fakir Mohan Senapati
(B) Laxmi Kanta Mohapatra
(C) Radhakanta Ray
(D) Gopabandhu Dash

“Q60 Q@R @91” de10Q QOdRl &Y 7
(A) OR1Q 69197 6dRIAE

(B) ag19I8 FQlaig

(C) QIR QU

(D) 66IlCIQQ Q16
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28. Who is the author of the book “My Journey : Transforming dreams into actions™?
(A) Dr. Manmohan Singh (B) Jairam Ramesh
(C) Dr. APJ Abdul Kalam (D) Malala Yousafzai

9ge ‘Al 0§ : cledefier 809 AAG 2IRRY"Q ERee @Y °?
(A) 98 ARcAIQR & ' (B) GOQUS1 Q6A161

(C) 08 .80 290R AR (D) FIRIA Qgemia

29. How is the eminent person ‘Tenzin Gyatso’ popularly known as?
(A) Panchen Lama (B) Nagarjuna
(C) Dalai Lama (D) Rimpoche

Q8 @18 “conaer caley” €ad AINER KRS ?
(A) 680 @A (B) Q161

(C) 0RI@ MIAl (D) &1601€0

30. Who is the winner of Wimbledon Tennis Boys’Singles Junior Championship 2021?
(A) S. Gueymard Wayenburg
(B) Samir Banerjee
(C) Victor Lilov
(D) Juneheng Shang

“QREAMER €6Gd ARG Va9 QAEQ SrduIRda” 909¢ Q G6ael &Y ?
(A) V4 9RA4G geanad
(B) ama QIQial
(C) GR9Q REMIQ

(D) QREOEP €GP

31. Which of the following is the largest sweet water lake in Odisha?
(A) Ansupa (B) Chilika
(C) Pata (D) Kanjia
QANGIO ARG 6RAE GFFIQ QAN AYQ KR @ BEe' ?
(A) grglel (B) Oaa!
(C) Qe ’ ' (D) QI8

P-I-RI-2021/A
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32. In which year did India win the first Gold medal in Hockey at Olympic Games before

Independence?
(A) 1910 (B) 1920
(C) 1928 (D) 1945

ARIRG! 999 28 ceRea QIae caa 9F BRrdaca gan adaes 668l 2
(A)eeeo (B) 90

(C) eqor (D) QU8

33. In which district of Odisha is the Central Rice Research Institute situated ?
(A) Khordha (B) Cuttack
(C) Sambalpur (D) Koraput

GEEIQ 60A @R 61, MG FI6R8EI 2Q8Ie” BQE0 7
(A) catial (B) 6@

(C) 29RgQ (D) 6RIQUEe

34. Inacronym SAARC, what does ‘C’ stand for?
(A) Committee (B) Common Wealth
(C) Conference (D) Cooperation

8 6@ “SAARC” C Q1! €I QRS ?
(A) @AG (B) @7106ame

(C) RAeK00e (D) 6196928

35. Which of the following is the headquarters of World Trade Organization (WTO)?
(A) Paris (B) New York
(C) Geneva (D) Madrid
Qg @Iy a°gl (WTO)@ fletf @IaiIRg, 6000I6a 21986 ?
(A) eMIQq (B) fgae

(C) 6a6n @ (D)AIga

36. How many members from Odisha are elected to Lok Sabha ?

(A) 14 (B) 15

(C) 18 (D) 21
GR4IQ 6960 @6 QY cRIRdAI] ARIF6 gag ?

(A) 03 (B) ¢8

(C) er (D) 9@

P-1-RI-2021/A



37.

38.

39.

40.

41,

(A) South Africa
(C) Israel

FORGe AMQ €6 606 FIOLAR Qe 9Q8 ?
(A) @S 2
(C) agiva

What is ‘Wall Street’?
(A) Stock exchange of Calcutta
(C) An Indian Township in Britain

”@MQ\ @Q\” @’@ .?
(A) SRQBIQ 8] TR,

(C) §60R6R QIQBQ AQQUER

Which of the following countries is not a member of United Nations (UNO)?

(B) Palestine
(D) Cuba

(B) SI6ASIRR
(D) 4@l

(B) Stock exchange of New York
(D) None of these

(B) 70049 80 12608

(D) 6006 Q69

“United Nations’ (UNO) celebrates ‘International Day of Yoga’ globally on which date?

(A) March 08
(C) June 05

(B) May 08
(D) June 21

QIFLQ QIal AAY FEEQ “BIFRT1E, 6016l BQA” 6AE IR ARG YUY ?

(A)AIS

(C) g8

(B)&A

(D) @R, 9¢

Which of the fbilowing districts of Odisha has topped in production of Turmeric?

(A) Ganjam
(C) Kandhamal
GHIIA 6R6 A RV AYINACR Felfl 2I6e ¢

(A) G819

(C) 99717

(B) Mayurbhanj
(D) Sundergarh

(B) FIG008:

(D) 299419

Who was the Viceroy of India when Muslim League called for the “Direct Action Day”?

- (A) Lord Ripon

(C) Lord Linlithgo

(B) Lord Minto II
(D) Lord Wavell

QAR A6l QIal BIQIe SUAIREIQl “Direct Action Day” AFEER QIQOQ QIRASL, &Y Eem ?

(A) A9 QaQ

(©)RE ARelsal

P-I-RI-2021/A
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42. Who was the first Governor General of India?
(A) Lord Minto
(C) Warren Hastings

QAEQ geIf TR CReaIR @Y Bem ?
(A) Q9 Fea

(C) 6l60q ca8em

(B) Lord William Bentick
(D) M. Cornwallis

(B) A9 00RO ¢Rda

(D) Y9 @8aIRg

43. What were the names of Ashoka’s mother, wife and daughter?

(A) Mahadevi, Subhadrangi, Sanghmitra
(B) Subhadrangi, Mahadevi, Sanghmitra
(C) Mahadevi, Sanghmitra, Subhadrangi
(D) Subhadrangi, Sanghmitra, Mahadevi

Beslaaa A, 81 6 B2 FIF Q6 SRl ?
(A) 91916061, gQQlan, arafial

~ (B) g0QleR, AQI6q!, AFQ!
(C) A1Q16Q@1, AafQl gaalen,

o

(D) g@Qlen, ceadal, AQlIeaan

44. Initially, Queen Elizabeth 1 approved the chart‘ér to the East India Company for how many

years?
(A) 5 years
(C) 10 years

(B) 7 years
(D) 15 years

QUEN YARICRE gelr as AdZl oalet aie giefie aailam cae 9F R age AQerian Qa8 7

(A) 8 ed
(C) e0 Q8

45. ‘Panchatantra’ was written by whom?
(A) Kalidasa
(C) Tulsidas

“080R” QY cRGigism ?
(A) IR%I4

(C) gpaiald

P-I-RI-2021/A
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46.

47.

48.

49.

50.

Mohenjo-daro is also known as?
(A) Mound of the great
(C) Mound of the living

“OceeBialeal” QL AR4RIe Q8 ?
(A) 9108 2 § 696

(C) ARG AP @ AQeP

(B) Mound of the survivors
(D) Mound of the dead

(B) Mg 2 @ A6leead
(D) fl1ag 8er G 600

The infamous Jallianwala Bagh massacre happened on which festival day?

(A) Holi
(C) Raksha Bandhan

(B) Baisakhi
(D) Lohri

QIREIAEIA AI6Q ARG, FARIA 6ed a9 8Q cQadal ?

(A) QIR
(C) asIenq

(B) 634116l

(D) 6RIQQ

Which among the following dynasty was ruling over Magadha when Alexander invaded India?

(A) Shisunagas
(C) Mauryas

(B) Nandas
(D) Kosalas

BICRRAIOT Q0 BIAE QAR AARTe FRIHQ cad QIee°s AGU] §IAR FQER ?

(A) Ggaiel

(C) s

The lengthiest classical epic of India is?
(A) Bhagawad Gita
(C) Gita Govinda

Q190 99929 6Clade g8 ¢aad ?
(A) 96196 NG|

(C) 16 610

Odissi dancers in Jagannath Temple are called as?
(A) Mahari
(C) Gotipua

QaRlel AA0Q BRI AR Q8 §RIAN ?
(A) AIQIQ1

(C) 60152

P-[-RI-2021/A

(B) @@

(D) 681617

(B) Ramayana
(D) Mahabharata

(B) QUAIQ8!

(D) FQIQ1QQ

(B) Pala
(D) Patua

(B) €l

(D) el
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PART-B s
MATHEMATICS : 100 Marks

Instructions : Each question under this section carries TWO marks. Please read the questions
carefully and answer them by selecting the correct answer out of the multiple answers given
below each as 4, B, C and D.

Ti herg shall be negative marking @ 0.5 mark per question for wrong/multiple answers.

51. If a humber is increased by 25% and then decreased by 25%, find out thépercentage of
increase/decrease of final value of the number.

(A) Increase by 6 i % . (B) Decrease by 6 % %
(C) Increase by 93 % % j (D) Decrease by 93 i— %
a9 6RIGY Qe 19981 25 9RAIY YL° G166 d@w 25 Q19 QY. 6069 AGHITA 991 At €00
6a60 98 @l Q1a 6ga ? :
(A)67 %98 (B)6%%QI§J

(€) 932 %98 (D) 932 %4qia

52. A person’s present age is three-fifth of the age of his mother. After 8 years, he will be two-third
of the age of his mother. How old is mother at present?

@68 Q4B QAN QOd Bl Al QAR 9H-a8IE | 8 Q§ deQ Ol Qe Q& AlITler QU
QR-9A1E 629 | QAAIR Bl AIZIGKR QA 6REQ ?

(A) 36 years (B) 38 years

(C) 40 years ‘ ‘ (D) 42 years

53. Find the greatest 3-digit number which when divided by 5, 6 and 7 leaves a remainder of 3 in
each case. -

6ad 0hze J88 9Qan PaIQ 5, 6 99° 7 QIAI QIS Q6R QISICES gEaIa CEQER 3 €7
(A) 999 - - (B)943
(C) 843 | (D) 840

54. A train running at the speed of 60km/hr crosses a single pole in 12 seconds. Find the length of
the train. A ; :

€9llTY 690 A g8 60 8. €3eq G0 @QEial AFAEA Y9 YA 12 CAERELR ZIPRA SRl | €96Q
6009 60T 6R6e? .
(A) 80m : (B) 100m
(C) 120m (D) 200m
P-I-RI-2021/A
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'5. A shopkeeper sells two articles at Rs. 600 each, making a profit of 20% on the first article and a
loss of 20% on the second article. Find the net profit/loss that he makes.
(A) 4% Loss (B) 2% Loss
(C) 1% Profit (D) No profit or Loss
Q661 CQIRIRT QAG Q9IQ JERYR 600 CHcq 88 @8 gaf QaYER 616991 20 AIA 6 G019 9916
S19901 20 80 QA8 | €069 6d 9IYIR 6RCO AIA @7 86 @G ?

(A) 4% 89 (B) 2% 86

(C) 1% AIQ (D) Ale 9 86 QI

56. The salary of X, Y and Z are in the ratio 5 : 3 : 1. The salary of X and Y together is Rs 7200. By
what percent is salary of X more than that of Z ?

X, Y8 ZQoosa dgalo 5:3:11 X6 Y Q Y90 Q68 QA 7200 61 | X @ Qa9 Z @
QQAI0IQ F10G0! 6360 2D ?

(A) 100% (B) 200%

(C) 300% (D) 400%

57. A sum of money amounts to Rs. 7200 after 6 years and Rs. 9900 after 9 years at the same rate of
simple interest. Find out the rate of interest.

Ve ARUe AAIe Aaadd Q106q 6 adea 7200 9F ¥9° 9 @8t 9900 G& QY | 606 QIfia Qua

Q1R €REQ ?
(A)30% : (B) 40%
(C) 50% (D) 60%

58. If5% V=125, 2%"Y= 128, then find the value of x2 - y2 ?
Q@ 5% Y= 125, 2%tV = 128,606Q a2 - y2 QL FlaH @60 7

(A) 35 : (B) 21 (€))7 (D)0

59. Determine the value of ‘a’ when/5%= 25
a6 3/59=25 Q¥, 6069 ‘a’ Q FM1 6966 ?

(A)3 (B) 6 (©)9 (D) 12

60. A person takes 30 minutes more to cover a certain distance by decreasing his speed by 40%.
What is the time taken to cover the distance at his original speed?

@66 @18 Ve afe QQela ZoRr KR4 CIR 68 Ol 696 §I0RQI 40 AAIRLA 30 Q6 2y qag |
6069 64 9@ AR 6Q0l60) 99 9@, 69ca 6aQ QoI 2R Q9! CIR 6960 AN, AIGQ?

(A) % hr (B) % hr (C) 1 hr (D) 1 —;- hrs

P-1-RI-2021/A P. T.O.
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- 61.

62,

63.

64.

65.

66.

20 men and 25 women together can complete a work in 5 days. It takes 150 days for one mai.-
alone to complete the work. How many days will be required for one woman to complete the
same work?

20 @6 98 G 25 @8 g 6aITY QIATg 5 AREQ 668 FQE | V68l Q8] IAIRT AR Qad cas
Q19 150 G MIET | €06 Q68 1Q YRIRT AAIQ Il ca8 QAQIQ 6ace A9 AT ?

(A) 300 (B) 325

(C) 350 (D) 375

A rectangular block, having length, breadth and height 16cm, 12cm and 8cm respectively, is cut
into an exact number of equal cubes. Find the least possible number of cubes.

CAIEY BIGSRR Cald, IQIQ BN, g8 6 aPQl JaIReH 16 ¢af. 12 6d.f. 6 8 ¢df. @ VLR
0Q anle aeeila AALRER AR89 QUL | 6969 AQQY] ARG A°eHl 666 7

(A) 18 (B) 24 (©) 30 (D) 36

If x>y, x+y=36and§+§=§—,thenfindoutthevalueofxandxgc?
a6 x>y, x+y=36and%+-j;:§, €069 x G & Q AR 6RO 7

(A)27,9 (B)24, 12
(C) 18,18 : (D) 36, 0

If 15 men working for 8 hours a day can plough a field in 36 days, in how many days will 9 men
working for 12 hours a day can plough the same field ?

93 15 @8 9Q8 Q0Q 8 A& RGN QI 9] Y& 679 36 GA6Q QI8 QRKIAE ; €06 9 @4 Qs
Q09 12 Q& cREIV @IF Qcm 628 @FQ caco Grsa QI8 @QEIGke 7

(A) 32 (B) 36 (C) 40 (D) 45

If the external and internal circumference of a circular road is 396m and 352m respectively, then
3 ; 22
what is the width of the road? (n = 7)

98 cAIGY QAUIRIQ AYR QAN G GeQ A ceIger 396 Feq G 352 ATQ QY. €e6R QYR g
6960 ? (1=2)

(A) 7Tm (B) 14m (C)21m (D) 28m

The volume of a cylinder is 1232m°, If the arca of curved surface is 176m?, then find out the

circumference of its base? (n = %)
cqITY dRgaq arom 1232 Af. | €8 YQIQ @9 JHeRa CERUm 176 @.F. QY. €069 qfia e
€960 ? (=2

(A) 22m (B) 44m

o (D) 196m

P-1-RI-2021/A



67.

68.

69.

70.

71,

72.

73.

i
If 0.863is converted into a rational number, find out the number?

99 0.863  6aITY €Q6AE, E°¢ICA ARRER QAUDIY, €969 AT 6960 ?

(A)g ®2
(©) (D)5

1 2 &
Find the value of (3)2 x 643 x(l—;—) ?

! 5

& L. il
(ijz'x643 x(léj Q e Al 990

9 3

(A4 (B) 8 (€) 16 (D) 32
St e

(A); (B)3

©)1 (D) 2

If 2%¥%2 x 3%¥2= 96, find the value of x.
9@ 2%+2 x 3¥72=96 94, x Q AR A, 99 7

(A1 (B)2 ©)3 (D) 4

If x:4 =3 :4, then what is the value of (3x ~¢ ) : (x +2¢ ) ?
98 x:y=3:490 6069 (3x—4):(x+24)Q Fal 66O ?

(A)5:11 B)11:5
(C)16:55 (D)55:16

If the side of an equilateral triangle is decreased by 2cm, its area is decreased by 11v/3 cm?.
What is the height of the triangle?

A8 6aITY AreIg §9ea geoia QIga ¢BaTg 2 caf. eaIaN, Y csgom 11vV3 @4 ead.
Qfiav | 9eQ 696! €960 ?
(A) 3v/3 cm (B) 4v/3 cm
(C) 53 cm (D) 6 V3 cm
Sin?@ i Sinké

; _Sin?0 ?
What is the value of e TRl s o

Sin?0 sin26
Ttesh -4 Cosh ?
1+Cos@ L4 1-Cos@ Q Fmi 6969 1

(A)0 @i ©1 (D)2

P-I-RI-2021/A PYRE O,



75.

76.

77.

78.

79.

Find out the value of (0.04)”.

(0.04)?Q At AL, 99 ?
(A) 625 (B) 2500
(C) 5000 (D) 10,000

What is the smallest number by which 13122 must be divided to make it a perfect cube?

13122 Q 694 §0AA E°eHl QIQI QIS AER AR U@ Gean et 628 ?

(A) 12 (B) 18 (C) 36 (D) 72

If each angle of a triangle is decreased by 10°, the ratio of three resultant angles will be 6 : 4 : 5.
Find out the greatest angle of the triangle?

CQIEY §9Ra 9601e calfa adnieq 10° RN RAIALacR SRMIfT CAIERINER BROIe 6 : 4 15
QY | GORQ 92080 6RI6R AQslE 6R6e7

(A) 50° (B) 60° {C) 70° (D) 80°

A fruit seller purchased 20 kg of apples at Rs 300. Out of total quantity, 2 kg of apples were
rotten. At what price per kg he should sell the balance quantity of apples to get a profit of 20%?

6aIEN O GRIRIRT 200 A.G). 696 300 E&IEQ @dica | ©QQ 2 @.91. IOl QAR | BRI 626 @.6ll.
g0 R0 0QEQ AP, ASM FORBI 20 AW 6@ ?

(A) Rs. 36 (B) Rs. 20

(C)Rs. 18 (D)Rs. 15

A businessman gives 10% discount on the marked price of a watch. If the cost price of the watch
is Rs. 300, then find out the marked price to get a profit of 20%?

Q68 QI YA RS AR QCER 6090l 10 QQIF Gud | dQITQ QAR 300 C& CRER €10
20 Al AIR9! IR AYE AR €868 629 ?

(A) Rs. 300 (B) Rs. 360

(C) Rs. 400 (D) Rs. 450

A person deposited Rs. 9000 in a bank. After 2 years, he withdrew Rs. 4000. At the end of 5
years he got Rs. 7640 from the bank. Find out the rate of simple interest per annum?

@66 948 V9 I6%Q 9000 &1 @7 CORl | 2 @8 G6Q €a 4000 G461 QOIRRI | 5 9F 6818I6Q 6
QIR 7640 & Qlan | 6969 QIfe AR A QAR 6RE6Q ?

(A) 6% (B) 8%

(C) 10% (D) 12%

P-I-RI-2021/A



80.

81.

82.

83.

84.

19

What will be the total compound interest for 9 months on Rs. 5,000 at the rate of 40% per
annum if the interest is compounded quarterly?

5000 G&16Q QIER §9Q0I 40 0998 QU QIAA 9 FIAQ CAIT 9RYE QY €Ree e, 98 3 aIaq
el6q 9998 Qv §aIe QaualY ?

(A) Rs. 1665 (B) Rs. 1655
(C) Rs. 1645 (D) Rs. 1630

The length of three rectangles having equal area are 24 ¢cm, 12cm and 8cm. What will be the
ratio of their breadth?

dAle csooh Q8 06RIT BINe68ea Mf 24 6aA., 12 a4 G 8 cALl. | 6068 CANINGR 9aa
gQaIS €960 609 ? :

(A)352.51 (Bledsad
(ChZal3 : (RS

A cube of wood of side 12cm was cut and formed into a largest sphere. Find out the volume of
the sphere?

12 6.8, QIQ Q8 6AIGY AAQAIRIQ QIOHEFT AT Y8 9QAS CAIRGEA RS SRR | ARG
AeoR da e |

(A) 288 w cm’ (B) 864 m cm’
(C) 2304 t cm® (D) 6912 wem®

Asim purchased rice of Rs. 800. He sold %th out of purchased rice at a profit of 10% and rest part
at a loss of 10%. Then find out the percentage of profit or loss in selling of total rice?

(A) 2.5% Loss (B) 5% profit
(C) 7.5% profit k (D) 10% Loss

gde 800 Gaicq QAR @ésm | GéiElal QlaRa 324%1@ G990 10 AIGLA 6 dadits 2°61g §19QQl 10
S060 A8 Q6 | 6060 AAY GIaR ARER VIER FORVI CAEO MIA 9 T6 caml ?

A) 2.5% 80 (B) 5% @)
(

(C) 7.5% [Q (D) 10% §6

A seller marked a price of Rs. 460 on a cycle and sold it giving 25% discount. If he got 15%
profit, then find out the cost price of cycle purchased by him?

@66 6Q1RIQ1 Y@ QAR QR 460 Gal QIfl sREIEIR Y9° 60401 25 QQI0 R 8§ asm | catlsa
QIER 619901 15 MG AIRfn | AIRAATY 69 6060 QAIFER @&ifln ?

(A) Rs. 414 : (B) Rs. 360

(C) Rs. 300 (D) Rs. 200

P-1-RI-2021/A P/TO.
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85.

86.

87.

88.

89.

Find out the sum of the sequence of §>1<_6 i 6—35 F —7—3(; ................ up to 16" terms?
o ot o A 16 § g0 agie 2QeNa CAGCR 669 ?

(A) o= ()31

©3 D)=

A finished 1‘% of a work in 9 days for colouring of a house. A and B together completed rest

work in 7 days. If B alone works, how many days he would have taken to complete the entire
work?

A €IGY 9Q Q&P 629l CIR 9 GAEa 135 e°gl QIf 6618 aml | A A@Q B Adl Zedia Qiag 7 Gaeq 6419
QERl 6969 9@ B YRS Q9] @03, 62 agQId, AIai] €a6o GAEa 668 ARG ?

(A) 30 (B) 20
(€) 16 (D) 15
If ‘g:\g =a + bv6 , then find out the value of aand b ?
a8 ‘gfgz a + bV6 QY. 6669 a B b Q AR €A6Q 7
A 7 =3
i Blo~
e ~7 =3
LR B e

A batsman makes a score of 95 runs in the 16™ innings and thus increases his average by 4 runs.
Find his average runs after 16" innings?

Q66 QITAFMIA QIGRA C8I04 CIFER 95 QR A8 G VEUIR BIeR AR QR 2IQ 4 98 QY | €96
0l6TR 68I0E QIR C6Q ANRAR AR 6RER?

(A) 35 : (B) 34

(€)33 (D) 32

A boat man can row Skm against the stream in 30 minutes and return in 20 minutes. Find the
rate of current? ;

QCE Q1A 6910 QEQREA 30 ARQQ 5 4. BIgRl AIRAIA] 6 20 ARGCQ CORCIAG | ¢JIeQ ¢
6R69 ? '

(A) 2km/hr (B) 2 -~ km/hr

(C) Skm/hr (D) 7 % km/hr

P-I-RI-2021/A



90.

91.

92,

93.

94,

95.

21
Three numbers are in the ratio 4 : 5 : 6 and their LCM is 4500. What is their HCF?

FeRIF coalIQ BIREIS 4 : 51 698° CAAIRGR AAIG. 45001 €06Q CAINGR 6.41.G. 6H6o ?
(A) 45 (B) 60
(C) 75 : (D) 90

A mixture of 200 litres of milk and water contains 10% of water. How much more water should
be added so that water becomes 20% of the new mixture?

200 ME'Q QY @ €IEQ Y& FAgeeq 6099l 10 CIE 2R | Y@ Fgaea aa ¢ace aIf Aslaca I
26l F0R6! 20 69 ? :

(A) 10 litres (B) 20 litres

(C) 25 litres (D) 40 litres

A wire can be bent in the form of a circle of radius 28cm. If it is bent in the form of a square,
then what will be its area? (r = 2‘7—2)

CAIY 010q 28 ¢df. @IS Ad% Ye 98 2IgPR Am FAURCIER | 8 Y8 B1ag Ya Qdese
= 22
2GR 961 QAUEIY. €668 IQIQ CERER 6366 ? (n=—)

(A) 1089cm’ (B) 1936cm’
(C) 3025cm’ (D) 4356cm’

The average age of a husband and his wife was 25 years at the time of their marriage. After six
years, they have a one year child. What is the average age of the family now?

Q68 QPN G YA CARINE BQIQ ANAEA AR 2AA 25 8l | *8 AF AEQ. CAAIRER CAITY YR
Qda §g 2R | AAAIR AR QNG WL 6RES ?

(A) 19 years (B) 21 years

(C) 23 years ; (D) 25 years

A boat can move 9km/hr in still water. If the river is running 3km/hr, it takes 90 minutes to
move to a place and back. How far is the place?

6AITY ¢hlal 8Q ARcQ AQ 98 9 A.4. 6R66a CIF FRAIA | 98 P91Q 6916 A& g0 3 @.. 6edsa
Q6 Q6Q, YQI 6618 2Ifg ¢8 @Qal 6 coRal di 90 ARG Afd, GV | €66Q QINTA Q0! 6Q6H ?

(A)3 Km (B) 4 Km (C) 6 Km (D) 9 Km

If the simple interest on a sum of money at 10% per annum for 3 years is Rs. 1500, find the
compound interest on the same sum for the same period and the same rate.

A0 6alod AMUAQ §9991 10 QA 3 @HQ AQRGY 1500 & Y, €96@ 6dQ AMNAQ €A A,
FR6Q 694 Q¥ QIRER 9998 QA 6Q6Q 699 ?

(A) Rs. 1655 (B) Rs. 1665
(C) Rs. 1675 (D) Rs. 1685
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96.

97.

98.

99.

100.

Hari read 7/15™ pages of a book in the 1* week and 5/12" of the remaining pages of that book
in the 2™ week. If there were 56 pages unread after 2" week, how many pages were in the
book?

Q8 €T 9@ 7/15 2d g8 gelrl AdQen a@en 6 ad @da Zeds guIQ 5/12 @ Qe
YRR @eR | 98 G010, AUQ F6Q BIA 56 98 Gl €A 2V, 6069 94 a6 g8 Bnl ?

(A) 160 (B) 180

(C) 200 (D) 220

If the sum of two numbers is 42 and the HCF and LCM of these numbers are 6 and 72
respectively, then what is the sum of the reciprocals of the numbers?

99 QRf ceq caldieR 42 6 Y@ eMIgPea 6.4lg. 6 R QeIQET 6 G 72 QY. 606Q
AHIGERE QOFAG 6L 6969 ?

(A)= (B) =

42 433
i ey

From a point on a level ground the angle of elevation to the top of the tower is 60°. If the tower
is 346m high, what is the distance of the point from the foot of the tower? (v/3=1.73)

6AIEY AreR6a Bl 6aITY 99 26IRA da cRlde aQda aasld 60° 98 URIRRI ARSI 346
f. 9, 6060 2FIRNQ AIAERI0IQ AR QAGI 6768 7 (V3= 1.73) :

(A) 346+/3m (B) 173m
(C) 100m (D) 200m

If 60% of;sz- of a number is 9.5, then find out the number?
5 ey L
Ve eI < Q G0RQ1 60 JQ 9.5 @V, 606 A°GHIQ €R6Q ?

(A) 380 (B) 95
(C) 38 (D) 3.8

A invested 20% more than B. B invested 25% less than C. If the total sum of their investment is
Rs. 2650, how much amount did ‘B’ invest?

A, B 0IQ 6099 20 29 28 85609 @6m | B, C 2608l 69q0l 25 @ 28 QFedlel qen | 9@
canioEa ageig, 818 R6ITR aGiIe 2650 Oat QY. €069 B Q 818 9R€AISIR A8MI8 6860 ?

(A) Rs. 750 : (B) Rs. 900
(C) Rs. 1000 (D) Rs. 1340
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